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'Roches moutonees' are developed by the

geological work of ..........
(A) Sea

(B) Glacier

(C) River

(D) Wind

The river drainage pattern that resembles the
tree branches is known as

(A) Radial pattern

(B)  Trellis pattern

(C) Rectangularpattern

(D)  Dendritic pattern

Which of the following geomorphic features
isnot formed by river action?

(A) Delta

(B) Alluvial Fan

(C)  V-shapedvalley

(D) Cirque

What is the halflife period of **U?
(A)  4000m.y.

(B) 4628m.y.

(C) 4468m.y.

(D) 5122my.

Which of the following is not associated with
Isostasy? '

(A)  Gravity
(B) Balance
(C)  Drifting
(D)  Equipoise

The Mid Oceanic Ridges are formed where

(A) Two continental plates collide with
each other

(B) An oceanic plate undergoes
subduction beneath a continental
plate

(C) An oceanic plate undergoes
divergence

(D) Twoplatesslide pasteach other

23 - Geology

‘Y AR wE e AR fewe
AT e A fasfaa e 2

(1) 9IS

() fere

(| T

(7)) 99

T 5 freE S R g9 @t wrenstt &
o feama, Fra i A Frwsam e ?
(31) Asaa

(@) fe=

(W) TR

(R) efglew

g SR el ST R S| s
e S A Hefba TE@ R ?

(1) =

(%) e foam

(|) V-I&HRER

(x) fa=

=y ot o7 sy fepat At 82

(1) 4000 fafergad

(¥) 4628 AferTad

(W) 4468 fufaaad

(8) 5122 fafead

At YR guefma A gsfaa s ?
(31) TEAHYY

(¥) Hged

(|) faema

(®) hEdEs

7 e & & s & foag Suge

sRfeafrai fea iR ?

(31) A HEI A T R THIAT

(¥) TEErRE WiE 6l AR ©IE &
= T

(W) WEErE e HIgE

() DR R T

P.T.O.



10.

11.

12.

Lines joining the points of equal elevation in
a topographic map areknownaas...

(A) Equipotential lines

(B)  Isoseismal lines

(C)  Isobariclines

(D) Contourlines

The three basic types of faults are, Normal,
Reverseand...... Fault.

(A) Step
(B)  Strikeslip
(C) Blind

(D) En-echelon
Which of the following is not an example of

Plastic Deformation?
(A) Kink banding
(B) Folding

(C)  Thrusting

(D)  Ductile shearing

What is the relationship between Fold Axis

and Hinge? B

(A) Foldaxisis parallel of hinge

(B) Fold axisisatright angleto the hinge

(C)  Foldaxis is at an oblique angle to the
hinge

(D) The Fold axis and hinge are
randomly oriented

What is the name of the fold which is convex

upwards and has older rocks in its core?

(A) Anticline

(B)  Syncline

(C)  Synclinorium

(D) Synform

Name the type of unconformity that

separates two sets of beds that are not

parallel to each other?

(A)  Angularunconformity

(B)  Disconformity

(C)  Non-conformity

(D)  Paraconformity
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13.

14.

15.

16.

17.

18.

A fold in which fold axis is horizontal is

(A) Reclinedfold

(B) Non-Plunging fold

(C)  Steeply Plunging fold

(D)  Vertical fold

What is the oldest stratigraphic unit among
the following?

(A)  Vindhyan Supergroup

(B)  Aravalli Supergroup

(C)  Delhi Supergroup

(D) Marwar Supergroup

When were the dinosaurs most abundant?
(A) Permin
(B)  Trassic

(C)  Jurassic

(D)  Creatceous

Which of the following can be used to
determine the correct order of superposition
of beds?

(A)  Graded Bedding

(B) SlatyCleavage

(C) IndexFossils

(D) CrossBedding

Rocks belonging to Gondwana Supergroup
are dominantly of ... origin.

(A) Fluviatile

(B) Lacustrine

(C) Marine

(D) Glacial

Which of the following landforms is

developed due to stream action?

(A) Oxbow
(B) Hogbacks
(C) Kettle

(D) Hangingvalley
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19.

20.

21.

22.

23.

24,

The Jurassic is what kind of stratigraphic

time unit?

(A) Era
(B)  Epoch
(C)  Period
D) Age

Which of the following is the least common
modes of preservation of fossils?

(A)  Preservationofhard parts

(B)  Preservation of entire organism

(C)  Preservation of original form

(D)  Preservation of altered hard parts

In a fault the fault plane dips at 40 degrees
and hanging wall is downthrown by 12
meters. What type of faultis this?

(A) Reversefault

(B) Normal fault

(C)  Thrustfault

| (D)  Wrench fault

What is Geodesy?

(A) Linear

(B)  Rectangular

(C) Crescent

(D)  Concavo-Convex

What is Geodesy?

(A)  Thestudy of lines of force

(B)  Thesstudy of sediment movements

(C)  Thestudy of Earth's shape

(D)  Thestudy of Earth's rotation

The Great Boundary Fault separates....

(A) Siwaliks and the Muree groups of
rocks

(B) Vindhayan and Aravallirocks

(C)  Vindhyan Supergroup and Deccan
Traps

(D)  Aravalliand Delhi rocks
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25.

26.

27.

28.

29.

30.

Which of the following cycles is the result of
plate tectonics?

(A) TheBowencycle

(B) TheCarnotcycle

(C) TheDavisCycle

(D) TheWilsoncycle

The maximum amount of dip of a bed is
measured in N 40°E direction. What is the

strike direction of the bed?
(A) NJ40°E
(B) N4O°W
() N50O°W
(D) N30°E

Which of the following statements is true for

overturned folds.

(A)  One limb is overturned with respect
to the other

(B) Both the limbs are turned through
angles more than 90 degree

(C) The Axial plane is vertical and both
limbs dip symmetrically

(D)  Onelimbis twice the size of the other
limb

Which of the following represents the

instrumental record of an earthquake?

(A)  Seismograph

(B)  Seismic section

(C)  Seismogram

(D)  Seismic profile

Which of the following minerals is used in

Nicol Prism?:

(A)  Fluorite

B) Calcite

(C) Topaz

(D)  Quartz

Which of the following minerals is
composed of carbon?

(A) Calcite

(B) Baryte

(C)  Graphite

(D)  Gypsum
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31.

32.

33.

34.

35.

36.

Which among the following is an isotropic
mineral?

(A)  Quartz

(B)  Beryl

(C)  Tourmaline

(D)  Garnet

Which of the following minerals shows
pleochroism?

(A) Biotite

(B)  Orthoclase

(C) Plagioclase

(D)  Quartz

How many minerals are there in Moh's Scale

of Hardness?

@A) 8

B) 10

<€ 6

® 12

The fundamental unit in building of silicate
mineralsis....

A) Sio,

(B) SiO

©) Sio,

@) sio,

Which of the following is a mis-match?
(A) Carboniferous

(B) Permian

(C)  Triassic

(D) Silurian

The lustre of mineral quartzis......
(A)  Pearly

(B)  Silky

(C)  Greasy

(D)  Vitreous
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37.

38.

39.

40.

41.

42.

Which of the following is not a factor of 37.

metamorphism?
(A) Temperature
(B)  Pressure
(C)  ActiveFluids

(D)  Atmospheric Pressure 38.
Which of the following minerals has two sets

of cleavages?

(A) Hornblende

(B) Biotite

(C)  Orthoclase

(D)  Quartz

Which of the following is an ore of iron? 39.
(A) Magnesite

(B) Magnetite

(C)  Apatite

(D) Bomnite

Sphalerite is a primary ore of which of the
following metals? 40.
(A) Zinc

(B)  Copper

(C) Lead

(D) Silver

Which of the following is an example of
'trace fossil'? -
(A) Moldandcast

(B)  Well preserved mammoth

(C)  Petrified wood

(D)  Preserved footprints

Which of the following minerals is an ore of 0.
copper?

(A) Bauxite

(B) Hematite

(C) Malachite

(D)  Sphalerite '
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43.

44.

45.

46.

47.

48.

Which of the following is a metamorphic
rock?

(A) Marble

(B) Breccia

(C)  Shale

(D) Arkose

Which among the following economic

deposits is not found in Rajasthan?

(A) Iron

(B)  Copper
(C) Chromium
(D) Lead

A sedimentrry rock mainly composed of

calcite can be called as

(A) Sandstone

(B) Limestone

(C)  Shale

(D)  Arkose

Which among the following, rock is most
resistant to weathering?

(A) Mudstone

(B) Limestone

(C) Marble

(D)  Quartzite

Which of the following is not a sedimentary
structure?

(A)  Vesicularstructure
(B)  Gradedbedding
(C) Ripplemarks

(D) Crossbedding

What is the chemical composition of mineral
halite?

(A) Potassium chloride
(B)  Sodium chloride
(C)  Calciumchloride
(D) Calcium sulphate
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49.

50.

51.

52.

53.

54.

Under intense pressure and high 49.

temperature, hydrogen atoms combine to
form helium. This process is called:

(A)  Nuclear fusion

(B)  Nuclear fission

(C) Metamorphism

(D)  Convection

What is the average thickness of the crust of >0
the Earth?

(A)  About10km

(B) About90km

(C) About35km

(D)  About125km >t
Which of the following statements is true for
Igneous Rocks?

(A)  They format lowtemperatures

(B) They form by recrystallization of
pre-existing rocks

(C)  They can form both at high and low
pressures

(D)  They never form below the surface of 5.

the Earth

Which of the following statements is true for

Minerals?

(A)  They are always in liquid state

(B)  They are always crystalline in form

(C) They have a unique chemical
composition

(D)  They do not have a definite internal >3-

structure
Which of the following rocks will change
into quartzite by metamorphic process?
(A) Limestone

(B) Sandstone
(C) Mudstone 54.
(D) Basalt

Which of the following represents the most
suitable site for seafloor spreading?

(A) Deepseatrenches

(B) Mid-oceanridges

(C)  Subduction zones

(D)  Transform fault zones
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56.

57.

58.

59.

60.

Which of the following features is not

associated with a convergent plate

boundary?

(A)  Mid-oceanic ridge

(B)  Earthquakes

(C)  Deep-seatrenches

(D)  Volcanic activity

‘Which of the following features is useful in
defining plate boundaries?

(A)  Distribution of rock types

(B) Distribution of earthquake belts
(C)  Distribution of mineral deposits
(D)  Distribution of river drainage
The age of the Earth isestimated to be....
(A) About46500millionyears

(B)  About4560millionyears

(C)  About465 millionyears

(D)  About46 million years

Which of the following is one of the inner
planets?

(A) Mars

(B)  Jupiter

(C)  Neptune

(D) Uranus

New crustiscreated atthe.......

(A) DivergentPlate Boundary

(B)  Convergent Plate Boundary
(C)  Transform FaultZone

(D)  Subduction Zone

Which of the following is mis - match?
(A)  Mineral lineation

(B) Boudinstructure

(C)  Foldhinge

(D)  Slaty cleavage
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61.

62.

63.

65.

66.

Which of the following is characteristic of

Sill?

(A)  Aconcordantigneous intrusion

(B)  Adiscordant igneous intrusion

(C)  Subhorizntal lava flows on a flat
surface

(D) Downward flow oflava

P-waves will have the highest velocity in

which of'the following?

(A) Water

(B) Alluvium

(C)  Granite

(D) Sandstone

~ The depth of generation of Deep Focus

Earthquakes s ... km below Earth's surface.

(A) 0to30

(B) 30to300

(C) 300to700

(D) >700

Exfoliation is a form fo

(A) Physical weathering
(B) Chemical weathering
(C) Biochemical weathering
(D) Masswasting

The most favourable environment for the

preservation of fossils is

(A) Terrestrial

(B) Lacustrine

(C)  Fluvial

(D) Marine

Trilobites usually have ...... divisions.
A 1

B) 2

© 3

D 4

23 - Geology

13

61.

62.

63.

65.

66.

freadwra faa s i ysfageiae ?

(1)  GEE M A e

() AT 3G e

(W) O R T STl <1 T &ifst
e |

(3) <ETshI=a ] IR RE

fr ¥ QA g wregm  p- a i ST AT waitas

qm?

(1) <

(%) e ()

(") e

() iggsrH

TR g [ ! Ieafa gLl Ot Q TN ..

..... fertfl TR WA €1

(31) 0930

(¥) 309300

(|) 3008700

() >700

3TuYTesh 7 1 Q FR eI ST § ?

(1) sifae sTagEA

(&) TEEH eI

(F) S TEEfTE STUEEH

(¥) wwafEn(Ieae)

ey TR forg get Sugea uRiafaat

HAWE?

(1) e (Afgaa)

() wWEdg

() e

() wrF

[AESICIECED LN 1| R . S ECE]

() 1

() 2

(|) 3

(®) 4

P.T.O.



67.  Disintegration and removal of rocks by the
action of natural agencies can best be
described as the processof :

(A) Frostwedging

(B)  Deposition

(C)  Weathering and erosion
(D)  Saltation

68.  Which of the following properties is
characteristic for basic lavas?
(A) Lowviscosity
(B) Lowtemperature
(C)  Smallareal extent
(D)  Highviscosity

69. Vents through which only hot water is
gjected as natural fountain are known as:
(A)  Geyser
(B)  Crater
(C)  Fumaroles
(D) Caldera

70.  Which ofthe following represents the correct
order of appearance of seismic waves at a
recording station?

(A) Lwaves-Pwaves-Swaves
(B) Pwaves-Lwaves-Swaves
(C) Swaves-Pwaves-L Waves
(D) Pwaves-Swaves-Lwaves

71.  Which of the following is not a concordat
form of igneous intrusion?
(A) Dyke
®B) Sil
(C) Lopolith
(D) Laccolith

72.  Name a plutonic rock composed essentially
of potash feldspar, quartz and albite with
minor biotite.

(A) Norite
(B)  Anorthosite
(C)  Gabbro
.(D)  Granite
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73.

74.

75.

76.

77.

78.

In Plate Tectonics a Constructive Plate

margin is formed

(A)  When oceanic and continental plates
collide with each other

(B) When a plate breaks away in two
parts

(C)  Whentwo plates slide past each other

(D) When two continental plates collide
with each other

Which of the following represents a correct

pair in terms of ore genesis

(A) Magmatic - Cavity filling

(B) Hydrothermal - Reconstitution

(C)  Metasomatic - Disseminations

(D) Placer-weathering

Which of the following statements is Not

True forP-waves?

(A) They are body waves

(B)  Theytravel like sound waves
(C)  They can passthroughliquids
(D) Theyare slower than S-waves

Which of the following sequence of minerals
represents increasing order of hardness?

(A) Calcite- apatite - quartz - corundum
(B) Fluorite - calcite - orthoclase -
gypsum ‘

(C) Topaz - orthoclase - quartz -
corundum

(D)  Quartz-apatite - topaz - calcite

The Gutenberg discontinuity is located at a
depth of around ..... km from the surface of
the Earth.

(A) 35
B) 900

©) 2900
(D) 5000

Which of the following is the second most
abundant gas in Earth's atmosphere? -

(A)  Oxygen

(B) Hydrogen

(C) Nitrogen

(D) Carbondioxide
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79.  Miocene, Eocene and Paleocene epochs 79.
belong to what period in the Geological
Time Scale?
(A) Archean
(B)  Proterozoic
(C) Mesozoic
(D)  Tertiary
80.  Which of the following represents a pair of 80.
Greenhouse Gases?
(A) Oxygenand hydrogen
(B)  Ozoneand chlorine
(C)  Nitrousoxide and sulphur dioxide
(D)  Methane and carbon dioxide 31.
81. Which of the following is a Crystal
Symmetry Element?
(A) Axis
(B)  Transparency
(C) Lustre o,
(D)  Streak
82.  Whatiscommon between gabbro and basalt?
(A)  Mineral composition
(B) Texture
(C)  Pressure temperature conditions of
crystallization
(D) Mode of emplacement
83.  Whichofthe followingisasilicate mineral? >
(A) Beryl
(B) Apatite
(C) Corundum
(D)  Orthoclase
84.  Which among the following geologic Eras 84.
represents the longest time span?
(A) Paleozoic
(B) Mesozoic
(C)  Precambrian
(D)  Tertiary
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85.

86.

87.

88.

89.

90.

Which of the following isnotaclasticrock?  85.

(A)  Arkose

(B)  Evaporite

(C)  Sandstone

(D) Mudstone

Which of the following is a mis-match? %
(A) Faultplane

(B) Interlimb angle

(C) Hade

(D) Footwall

Which of the following does not make a 87
correct pair?

(A) Zawar-Pb&Zn

(B) Khetri-Cu

(C)  Jhamar Kotra- Rock phosphate

(D) RampuraAgucha-Au 88.
Wolframite is an ore of ...

(A) Vanadium

(B) Tungsten

(C)  Antimony

(D)  Cobalt s
What is the most suitable host rock for
hydrothermal mineral deposits?

(A) Biotiteschist

(B)  Quartzite

(C) Limestone

(D)  Granulite

What is the most abundant mineral in the
Earth's crust?

(A)  Quartz
(B)  Feldspar
(C) Muscovite
(D) Olivine
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91.  Richter Scale is used to measure ..... of an
earthquake.
(A) magnitude
(B) intensity
(C) frequency
(D) depthoforgin
92.  From Trapezohedron belongs of which of the
following crystal systems?
(A) Hexagonal
(B)  Tetragonal
(C) Cubic
(D)  Trigonal
93.  Which of the following is not associated with
petroleum occurrence in India?
(A) NagaurBasin
(B) CambayBasin
(C) BarmerBasin
(D) BombayHigh
94.  Which of the following pyroxene minerals is
presentinacidic charnockite?
(A) Diopside
(B)  Hypersthene
(C)  Enstatite
(D)  Omphacite
95.  Igneousrocks containing less than 44% SiO,
are known as.
(A) Acidicrocks
(B) Basicrocks
(C) Intermediaterocks
(D) Ultrabasicrocks
96. In petrological microscope which of the
following mineral properties cannot be
observed under ordinary light?
(A) Colour
(B)  Refractive Index
(C)  Polorization colours
(D) Inclusions
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97.

98.

99.

100.

Type of metamorphism resulting from
granite intrusion into a sedimentary rock
sequenceis called.......

(A)
(B) Contactmetamorphism

Regional metamorphism

(C) = Dynamothermal metamorphism

D)
Which of the following varieties of coal has

Paired metamorphism

the lowest percentage of carbon?

(A) Peat

(B) Bituminous

(C) Lignite

(D)  Anthracite

What is the general trend of Aravalli
Mountains?

(A) NE-SW

(B) N-§

(C) NW-SE

(D) WNW-ESE

Which of the following minerals is alkali
feldspar?

(A) Bytownite

(B)  Orthoclase

(C)  Andesine

(D) Oligoclase
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